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1| Fr=E1 0 ol B> FZ2= | B5kVA
2|F =L 0 ol B> FZa=| B5kVA
3|Fr=E2 0 ol B> F>2= | B5kVA
4| FMT=E2 0 ol Mt~ 2= | B5kVA
5| FMT=ES3 1 0l B> FZa2= | BkVA
6| FT=E3 1 ol Bt~ FZr2= | BkVA
T|Fir=4 1 ol B> 5= | BkVA
8| F Tz 4 1 ol B> FZa= | B5kVA
9| F =S 1 0l Mt~ k> = | 7.5kVA
10| FT=ES5 1 ol B> > = | 7.5kVA
11|FT=6 1 ol B> 5= | B5kVA
12| F1Z=E6 1 ol > 712z 5kVA
13| F =7 1 ol > b7z 5kVA
14| F =T 1 ol > b7z 5kVA
15(F#r=s8 1 0| Wt~ rZr2= | B5kVA
16| F =8 1 ol B> FZL2= | BKkVA
17|F#r=9 1 0| Wt~ k2= B5kVA
_— 18| F =9 1 ol B> FZa=| B5kVA
19| FH7ZE10 1 ol Bt> r3>12= | 7.5kVA
20|F =10 1 ol B> rZ2= | 7.5kVA
21| F =1L 1 ol Bt> 312 = | BkVA
22| FMiELL 1 ol > >z | BkVA
23| FfrE12 1 ol Wt r702= | BKVA
24| FAfTE12 1 ol Bt~ k2= BKkVA
25| F M =E13 1 ol t> r>12= | BkVA
26| FMT=E13 1 ol > >z | BkVA
27| F i EL4 1 ol Wt r702= | BkVA
28| FiirE 14 1 ol Bt~ 2= BKkVA
29| FAfrE15 1 ol Wt r702= | BKVA
30| FMT=E15 1 ol B> > =| 5kVA
31| FM=ELT 1 o Bt> 512 = | 7.5kVA
32| FMT=E18 1 ol > 3= | 7.5kVA
33| A k- 1EEL 1 ol Wt~ k2= | 7.5kVA
34| FB SR ES 1 of > 2= | 7.5kVA
35| MBHR-EEFE 1 0 HE T 7.5kVA
HEESET 0
36| FMIE101(10R%) 1 ol W+t r512= ] BkVA
37|FMEL01(20% %) 1 ol > r7Laz 8kVA
38| F AT E102(107%k) 1 ol Wt rFZ1r2= | BkVA
39|FME102(20% %) 1 ol > r7Laz= 8kVA
40| FMTE103(10%H#E) 1 ol W+t> k712 = | BkVA
41| FHE103(20%%0) 1 ol Bt~ k2= 8kVA
A2|F =104 (10%58) 1 ol W+t> k712 = | BkVA
43| FME104(20%%5) 1 ol Bt~ k2= 8kVA
A4 FHTE105(10% ) 1 ol Wt~ kZr2= | B5kVA
AS| FMTE105(20 %4k 1 ol Wt~ ro1a=| 8kVA
46| FME106(10%5%) 1 ol > hr7La= 5kVA
AT|FMTE106(20% 4k 1 ol Wt~ ro1a=| 8kVA
48|ICU1 1 ol e~ b7z 3kVA
49]IcU1 1 ol > k> = | BkVA
50]1CU2 1 ol > hr7La= 3kVA
51|ICU2 1 ol >~ k> = | BkVA
52]1CU3 1 ol e~ b7z 3kVA
53|ICU3 1 ol > k> = | BkVA
5411ICU4 1 ol > b7z 3kVA
55(ICU4 1 ol >~ k> = | BkVA
56]1CU5 1 ol > b7z 3kVA
57|ICU5 1 ol > k> = | BkVA
58]I1CU6 1 ol > hr7La= 3kVA
59|ICU6 1 ol >~ k> = | BkVA
60]1CU7 1 ol > b7z 3kVA
61|ICU7 1 ol >~ k> = | BkVA
62]1CU8 1 ol > b7z 3kVA
63|ICU8 1 ol Wt~ k> = | BkVA
R 64]1CU9 1 ol > b7z 3kVA
65[ICU9 1 ol Wt~ k> = | BkVA
66]1CU10 1 ol > b7z 3kVA
67|ICU10 1 ol Wt~ k> = | BkVA
68]ICU11 1 ol > b7z 3kVA
69|ICU11 1 ol Wt~ k> = | BkVA




70[ICU12 1 ol Wt~ k702 = | 3kVA
71|ICU12 1 ol Wt~ r702= | BkVA
72|ICU13 1 0l Bt~ FZ02= | BkVA
73|IcU14 1 ol Wt r702= | BkVA
74]ICU15 1 0l Wt~ k702 = | B5kVA
75|ICU16 1 ol ®Wt> r702= | BkVA
76|ICU17 1 ol Bt~ 702 = | BkVA
77|IcU18 1 ol Wt r702= ] 3kVA
78]ICU18 1 ol Bt~ k712 = | BkVA
79]ICU19 1 ol Wt r702= ] 3kVA
80]ICU19 1 0l Bt~ 702 = | BkVA
81|ICU20 1 ol Wt r702= ] 3kVA
82]1CU20 1 ol Bt~ 702 = | BkVA
83| AR 1 ol > 2= | 3kVA
84| F 2 R1E9 1 ol Wt 2= | 3kVA
85| FamiE10 1 ol > 2= | 3kVA
86| 2 mE10 1 ol B> > =| 3kVA
87| mELL 1 ol Wt r702= ] 3kVA
88| KA w1l 1 ol B> FZa=| 3kVA
89| 2 ImiER12 1 ol > rFZr2= ] 3kVA
90| M2 TmER12 1 ol B> FZa=| 3kVA
e e R 0
91| FHr=21 1 0| =MEETBHEH 5kVA
92|F =21 1 0| =MEEEBHH 5kVA
93| FHT=22 1 0| =MEETBHEH 5kVA
94| FT=E22 1 0| =MEEEBHEH 5kVA
95|PICU1 1 0| =MEETHEH 3kVA
96|PICU2 1 0| =MEEEBHEH 3KVA
FEL 97|PICU3 1 0| =MEETBHEH 3kVA
98|PICU4 1 0| =MEEEBHEH 3KVA
99|PICUS5 1 0| =MEETBHEH 3kVA
100|PICU6 1 0| =MEEEBHH 3KVA
101|PICUT 1 0| =MEETHE® 3KVA
102|PICUS8 1 0| =MEETBHEH 3kVA
FELEE 0
103|Ffi=31 0 0| =MEETHH 5kVA
104|F#7=32 0 0| EMEETHEWG 5kVA
105\ 1NICU 1 0| =MEETBHH 3kVA
106|551NICU 1 0| =MEETHE® 3kVA
A 107|%1NICU 1 0| =MEETBHH 3kVA
108|%1NICU 1 0| =MEETHE® 3kVA
109|ZE2NICU 1 0| =MEETBHH 3kVA
110|ZE2NICU 1 0| =MEETHE® 3kVA
111|Z2NICU 1 0| =MEETBHEH 3kVA
REEEE 0
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